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Example

1. Analyze the graph of .

Watch Video Solution

y = − x2 + 4x + 5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1qCU0f3Avnw9


2. Analyze the graph of 

Watch Video Solution

y = 3x2 + 2x + 5

3. Solve .

Watch Video Solution

x2 − x − 12 = 0

4. Solve .

Watch Video Solution

(x − 6)
2

= 0

https://dl.doubtnut.com/l/_1qCU0f3Avnw9
https://dl.doubtnut.com/l/_zoqsRpa62o1b
https://dl.doubtnut.com/l/_e05x9QlfrrQT
https://dl.doubtnut.com/l/_O49rkzjL4wTy


5. Solve  by completing the

square.

Watch Video Solution

2x2 − 8x + 6 = 0

6. Use the Quadratic formula to solve

.

Watch Video Solution

3x2 − 4x + 1 = 0

https://dl.doubtnut.com/l/_O49rkzjL4wTy
https://dl.doubtnut.com/l/_PWrYBmyWS8n8
https://dl.doubtnut.com/l/_MfqAGcnWZfgO


Exercises

7. What is the product of the roots of

? Transform so that one side of

the equation is zero: .

Watch Video Solution

3x2 = 6x + 4

3x2 − 6x − 4 = 0

1. The coordinates of the vertex of the

parabola whose equation is 

are

y = 2x2 + 4x − 5

https://dl.doubtnut.com/l/_M8VDyKqXspYE
https://dl.doubtnut.com/l/_kJygnlKxNwpL


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2, 11)

( − 1, − 7)

(1, 1)

( − 2, − 5)

2. The range of the function

 isf(x) = 5 − 4x − x2

https://dl.doubtnut.com/l/_kJygnlKxNwpL
https://dl.doubtnut.com/l/_ZhFRrSC4hPse


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

{y : y ≤ 0}

{y : y ≥ − 9}

{y : y ≤ 9}

{y : y ≥ 0}

3. The equation of the axis of symmetry of the

function  isy = 2x2 + 3x − 6

https://dl.doubtnut.com/l/_ZhFRrSC4hPse
https://dl.doubtnut.com/l/_T1qk39CJhIXg


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = −
3

2

x = −
3

4

x = −
1

3

x =
1

3

4. Find the zeros of .

A. 3 and 2

y = 2x2 + x − 6

https://dl.doubtnut.com/l/_T1qk39CJhIXg
https://dl.doubtnut.com/l/_ijhKMJp7Lseb


B. 

C. 

D. 

Answer: D

Watch Video Solution

−3 and 2

and
1

2

3

2

and − 2
3

2

5. The sum of the zeros of 

is

A. 

y = 3x2 − 6x − 4

−2

https://dl.doubtnut.com/l/_ijhKMJp7Lseb
https://dl.doubtnut.com/l/_bBNPsW6tfWLc


B. 

C. 

D. 

Answer: D

Watch Video Solution

−
4

3

4

3

2

6.  has

A. two real rational roots

B. two real irrational roots

x2 + 2x + 3 = 0

https://dl.doubtnut.com/l/_bBNPsW6tfWLc
https://dl.doubtnut.com/l/_DzWhjeP9PkxX


C. two equal real roots

D. two complex conjugate roots

Answer: D

Watch Video Solution

7. A parabola with a vertical axis has its vertex

at the origin and passes through point (7,7).

The parabola intersects line y=6 at two points.

The length of the segment joining these

points is

https://dl.doubtnut.com/l/_DzWhjeP9PkxX
https://dl.doubtnut.com/l/_hHvkGFddjaIf


A. 14

B. 13

C. 12

D. 8.6

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_hHvkGFddjaIf

